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Al 7,476,579 7,438,874 37,705
g A - st E 9,716,085 8,675,369 1,040,716
s 1,000,000 0 1,000,000
[ 1,325,500 1,325,500 0
Al 7,390,585 7,349,869 40,716
CEALE 2 2,291,773 2,263,388 28,385
[ 65,000 65,000 0
Al 2,206,773 2,198,388 28,385
NEH Ol 2435 ALY 12,219 20,054 A7,835
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28 0¥ 0 700 AT700
202 04| 1,219 1,354 2135
01 20 Y 1,219 1,354 A135
ONSA B A 1,219,000 1,219 1,354 A135
307 Q12+0| & 7,000 14,000 A7,000
02 DIZABAAIYER 7,000 14,000 A7,000
02016 MHEAHZY s F2ASMAH(HZ)
3F 0’ 0 7,000 A7,000
2 2K B2 e 1,248,473 1,208,666 39,807
[ 65,000 65,000 0
Al 1,183,473 1,143,666 39,807
202 04| 1,828 2,031 A203
01 2ol 1,828 2,031 A203
OMNZola B2 2A 1,828,000 1,828 2,031 A 203
206 24l 176,660 136,650 40,010
01 MEHl 176,660 136,650 40,010
OE2E2x2 MW7 176,660 136,650 40,010
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23 2,000,008 2,000 3,000 A1,000
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s 1,000,000 0 1,000,000
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01 Ak 22l 0 3,000 £3,000
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